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@ D+ 2D +5)y = 3xe “sin(zx
®) (Dz+/)2(b--—2)3y = 6 cosSx ¢ 2cosx

(3) 4@ Detine what if means for (..., 41 to be lncarfy dependent.
(5/ Guen thal /(X) =X js a Solution of ()i%f-/)y”—— ;zx\‘y’} 4y = {'j
find a secomd finea r\// /n a"g7;e‘»;»a/éwf solutron
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(_—")“'5)2-7 =0 = (D-.%)Z: o = D =3 (fwice)
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y' = [C2 + 3(’(’,+('2x)]fgx
Y)=1 =» @+ b = |
Y0)=95 = Cr + 3(Cr#Co) = 5
Cp a8 S4 Es =2 =78 = 2
¥y = (Hezx)cfgx
(B Y+ ey =0 o (DP)y=e > D= 22
Y= C cos(zx) + G sin(2x) is The jﬂc’m«'m/ solvtron
_ Y= -2C smex) + 2(z co5Ex)
Yo)==2 = C, . 4+ Cr.0 = 3 = (=3
Y)=-8 =  -2C,.0 + 2(,-/ =-8 = G=-¢

Y = 3 tosCx) — 4 sinlzx) .

20) Y7-39y 425 =0 = G)L’-sﬂfz)y:@
(>-Dd-2)=0 = Y= C & +Ce
7."/7 Yo = AXP+ Bx +C .  Then .VF/:ZAXJ-B
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2A — 3(24Ax+B) + z[ﬂ X2 BX1C) = 4%2
2A = 4 (rscﬂ/f g’xz) = A==z
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2A -38+2( = & (_(08// o x°) = = 7
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= Ge +t e £ zxPrext 7
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C Them Y = (Ax+A)e”  and w7 - UYxrzA)e”
So Y+ 29 ~39, = j2¢”  pecomés
[(Ax +24)+ 2(Ax+A) - 3(Ax)] e” = 1ze”
4A X = 122" = A=3  So %= 3xe”"

Y= Ytd = e’ ¢ Ge? £ 3xe”

aﬂ (,D + 2D ﬁgﬁy =0 = D=(0C22V7-20)/2 = -1+ 2{ (fwa)
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;;;50 D%+ (ﬁ-z) Y = E coslx 4 zcos X
i = 3 £ 3cos@x) + zeoosX
Sé:_g?/mc‘f +1 /S a rpol of mgz//r/’a//ézz} 2 we should
'f-ry Cﬁacas X + 6, Sf"nx) xZ as a /parf ol Y
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::/ C-."Z (X ):7(9( = f = A ?) ﬂ()f = j .(X +;)Lﬂ{/

X2 X< XE
= / Xt raxt+l g, _ f<XZ+2fx*;z):1y = Xprzx-X
KZ

AR -)__ﬁgff 2x -x | = -gix’l{-zxz-/.
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(8) We know one Y, = 274, + V,Y., where ¥, &Y, are
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/ ' [ ./ 3
! v, = a Sinx casx SmE [ — sinx. sec’x
sec’x  cesx =SnXx 03X cos® x ¢ stnix
= - S/InX secx = — Tanx.Sec.x
£03 X
U, = f-—-/?zn)c’ SCEX = — SPCX = ~Vcc?r)(
/ 2
_A/Jo Z)_;_ = €o5 X o " }/ 0S5 X SinX I — COSXK, s€ec X
= See - 5 2
sin x € " X St x  co3 X cosix +sml x
= 1 _ selx — secx. /

. = [ £
L v, = [secx dx

, =" dn (sec x +Tanx)
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mx = ~fi-f = - Qv-kX
L M X+ A% +kx =0
4 X +16X+20X=0 = X+ 4X +5X=0
DD =B = D::e4r\&;%az==—2ié
Soe X({E)= ézf(/) cost + 55/?72‘)
S X () = —26%(/4 cost + B smt) + &% (— Asint + 8 szL)
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prr=s 5p Ail+ Bo = 3 - A=z
XE) =0 = (B-24).7 (zA+B).0 =6 = B=6
X(f) = 36‘-—2& (_c?.as'f+ zsm’f) PN
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